ABSTRACT OF BIDS - CONSTRUCTION		CEMVN-ED-C PAGE 2 of 4				BID NO: 1		BID NO: 2		BID NO: 3		BID NO: 4	
LAKE PONTCHARTRAIN LOUISIANA AND VICINITY HURRICAN PROTECTION, HIGH LEVEL PLAN FRONTING PROTECTION AT PUMP STATION #6 17TH STREET OUTFALL CANAL, (METAIRIE RELIEF) COMPETITIVE 8(a) ORLEANS AND JEFFERSON PARISHES, LOUISIANA		INVITATION NO; DACW29-98-B-0112 DATE OPENED: NOVEMBER 16, 1998 TOTAL SUMBER OF BIDDEES - 5 BACK GOVERNMENT ESTIMATE				Miller Excavating Seravices 823 Salvadore Road Kenner, LA 70076		Bandaras Construction , Inc. 72 N. James Street Kansas City, Kansas 66118		Graystone Construction Company 10325 S. Perdue Baton Rouge, LA 70814		McClinton Contractors. Inc./ TriState Design Construction Co., Inc. A Joint Venture MCC-561 Smith Street, West Point, MS 39773 TSD-7401 Old York Road, Elkins Park, PA, 19027	
ITEM NO.	DESCRIPTION OF BID ITEM	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT
0018.	Sluice Gates	Lump Sum	LS	\$2,910,000.00	\$2,910,000.00	\$2,030,000.00	\$2,030,000.00	\$263,500.00	\$263,500.00	\$2,400,000.00	\$2,400,000.00	\$2,197,100.00	\$2,197,100.00
0019.	Aluminum Bulkheads	Lump Sum	LS	\$1,000,000.00	\$1,000,000.00	\$600,000.00	\$600,000.00	\$280,000.00	\$280,000.00	\$900,000.00	\$900,000.00	\$787,200.00	\$787,200.00
0020.	Utility Modifications	Lump Sum	LS	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$5,000.00	\$5,000.00	\$7,200.00	\$7,200.00
0021.	Miscellaneous Metalwork	Lump Sum	LS	\$540,000.00	\$540,000.00	\$200,000.00	\$200,000.00	\$65,000.00	\$65,000.00	\$250,000.00	\$250,000.00	\$542,000.00	\$542,000.00
0022.	Furnish and Drive Test Piles	Lump Sum	LS	\$7,000.00	\$7,000.00	\$10,100.00	\$10,100.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$12,000.00	\$12,000.00
0023AA.	Compression Test First Compression Test All Over One Compression Test	1 1	EA EA	\$40,000.00 \$40,000.00	\$40,000.00 \$40,000.00	\$18,200.00 \$18,200.00	\$18,200.00 \$18,200.00	\$10,000.00 \$10,000.00	\$10,000.00 \$10,000.00	\$2,500.00 \$2,500.00	\$2,500.00 \$2,500.00	\$18,900.00 \$6,300.00	\$18,900.00 \$6,300.00
	Tension Test First Tension Test All Over One Tension Test	1 1	EA EA	\$20,000.00 \$20,000.00	\$20,000.00 \$20,000.00	\$7,200.00 \$7,200.00	\$7,200.00 \$7,200.00	\$7,500.00 \$7,500.00	\$7,500.00 \$7,500.00	\$2,500.00 \$2,500.00	\$2,500.00 \$2,500.00	\$18,900.00 \$6,300.00	\$18,900.00 \$6,300.00
0025.	Electrical Work	Lump Sum	LS	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$350,000.00	\$350,000.00	\$200,000.00	\$200,000.00	\$377,500.00	\$377,500.00
0026.	Diving Services	Lump Sum	LS	\$120,000.00	\$120,000.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00	\$238,100.00	\$238,100.00
0027.	Railroad Insurance	Lump Sum	LS	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$13,500.00	\$13,500.00
0028.	Selective Demolition	Lump Sum	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$400,000.00	\$400,000.00	\$479,500.00	\$479,500.00
0029AA.	Asphaltic Concrete Pavement Restoration First 150 SY All Over 150 SY	150 600	SY SY	\$80.00 \$80.00	\$12,000.00 \$48,000.00	\$50.00 \$50.00	\$7,500.00 \$30,000.00	\$450.00 \$400.00	\$67,500.00 \$240,000.00	\$25.00 \$20.00	\$3,750.00 \$12,000.00	\$36.00 \$36.00	\$5,400.00 \$21,600.00
ESTIMATORS: STUDDARD, MARTINEZ, HATTEN													
INTERANTO, THOMPSON, ROSSINGOL, WILLIAMS,				TOTAL	\$8,255,045.00		\$9,978,361.00		\$6,365,045.00		\$9,373,000.00		***\$9,412,711.00
L	PONS			MAXIMUM	\$10,318,806.25		20.876%		-22.895%		13.543%	4TH LOW BIDDER	14.024%
					HIGHEST BID		LOW BIDDER		3RD LOW BIDDER		***Total on bid sheet was \$9,413,311. Bidder mede mistake on axtension of frem 9015he had \$607,000 versus correct extension of \$607,200and he also added totals of all items incorrectly.		

ABSTRACT OF BIDS - CONSTRUCTION CEMVN-ED-C PAGE 3 of				of 4	BID N	O: 5	_						
LAKE PONTCHARTRAIN LOUISIANA AND VICINITY HURRICAN PROTECTION, HIGH LEVEL PLAN FRONTING PROTECTION AT PUMP STATION #6 17TH STREET OUTFALL CANAL, (METAIRIE RELIEF)		INVITATION NO; DACW29-98-B-0112 DATE OPENED: NOVEMBER 16, 1998 TOTAL NUMBER OF BIDDRES - 5 EACH				Pierce Foundations, Inc. 10940 Harrow Road New Orleans, LA 70127				-		_	
COMPETITIVE 8(a) ORLEANS AND JEFFERSON PARISHES, LOUISIANA		G	OVERN	MENT ESTIMA	ATE								
ÎTEM NO.	DESCRIPTION OF BID ITEM	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT
0001.	Mobilization and Demobilization	Lump Sum	LS	\$340,000.00	\$340,000.00	\$600,000.00	\$600,000.00						
0002.	Clearing and Grubbing	Lump Sum	LS	\$2,000.00	\$2,000.00	\$350,000.00	\$350,000.00						
0003.	Cofferdam Excavation (East Monolith)	Lump Sum	LS	\$5,000.00	\$5,000.00	\$100,000.00	\$100,000.00						
0004.	Cofferdam Excavation (West Monolith)	Lump Sum	LS	\$7,000.00	\$7,000.00	\$100,000.00	\$100,000.00						
0005.	Channel Excavation	Lump Sum	LS	\$4,000.00	\$4,000.00	\$50,000.00	\$50,000.00						
0006.	Embankment	Lump Sum	LS	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00						
0007.	Fertilizing and Seeding	Lump Sum	LS	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00						
	Armor Stone (Rip-Rap) First 1583 Tons All Over 1583 Tons	1,583 1,583	Tons Tons	\$50.00 \$50.00	\$79,150.00 \$79,150.00	\$35.00 \$20.00	\$55,405.00 \$31,660.00						
0009.	Piling, Steel Sheet, Type PZ-22	5,611	SF	\$20.00	\$112,220.00	\$12.00	\$67,332.00						
0010.	Piling, Steel Sheet, Type CZ-114	480	SF	\$20.00	\$9,600.00	\$23.00	\$11,040.00						
0011.	Piling, Steel Sheet, Type PSA-23	285	SF	\$25.00	\$7,125.00	\$10.00	\$2,850.00						
0012.	Construction Dewatering	Lump Sum	LS	\$180,000.00	\$180,000.00	\$50,000.00	\$50,000.00						
0013.	Cofferdam (East Monolith)	Lump Sum	LS	\$580,000.00	\$580,000.00	\$870,000.00	\$870,000.00						
0014.	Cofferdam (West Monolith)	Lump Sum	LS	\$350,000.00	\$350,000.00	\$1,550,000.00	\$1,550,000.00						
0015.	Furnish Steel H-Piles (HP 14 x 73)	13,800	LF	\$25.00	\$345,000.00	\$25.00	\$345,000.00						
0016.	Driving Steel H-Piles (HP 14 x 73)	13,800	LF	\$11.00	\$151,800.00	\$25.00	\$345,000.00		·				
0017.	Reinforced Concrete	Lump Sum	LS	\$900,000.00	\$900,000.00	\$600,000.00	\$600,000.00						

PAGE 4 of 4 BID NO: 5 CEMVN-ED-C ABSTRACT OF BIDS - CONSTRUCTION INVITATION NO; DACW29-98-B-0112 LAKE PONTCHARTRAIN LOUISIANA AND VICINITY Pierce Foundations, Inc. HURRICAN PROTECTION, HIGH LEVEL PLAN DATE OPENED: NOVEMBER 16, 1998 10940 Harrow Road TOTAL NUMBER OF BIDDERS = 5 SACH FRONTING PROTECTION AT PUMP STATION #6 New Orleans, LA 70127 17TH STREET OUTFALL CANAL, (METAIRIE RELIEF) COMPETITIVE 8(a) **GOVERNMENT ESTIMATE** ORLEANS AND JEFFERSON PARISHES, LOUISIANA UNIT PRICE UNIT PRICE ESTIMATED UNIT PRICE ESTIMATED UNIT UNIT PRICE ESTIMATED UNIT PRICE **ESTIMATED** ESTIMATED ESTIMATED DESCRIPTION OF BID ITEM **ITEM** AMOUNT AMOUNT AMOUNT **AMOUNT AMOUNT OUANTITY** NO. LS \$2,910,000.00 \$2,910,000.00 \$2,300,000.00 \$2,300,000.00 Lump Sum Sluice Gates 0018. \$1,000,000.00 \$1,000,000.00 \$220,000.00 \$220,000.00 LS Aluminum Bulkheads Lump Sum 0019. \$50,000.00 \$50,000.00 LS \$40,000.00 \$40,000.00 Utility Modifications Lump Sum 0020. \$400,000.00 \$400,000.00 LS \$540,000.00 \$540,000.00 Miscellaneous Metalwork Lump Sum 0021. \$130,000.00 \$130,000.00 Lump Sum LS \$7,000.00 \$7,000.00 Furnish and Drive Test Piles 0022. Compression Test 0023. EA \$40,000.00 \$40,000.00 \$1,500.00 \$1,500.00 0023AA. First Compression Test EA \$40,000.00 \$40,000.00 \$1,000.00 \$1,000.00 0023AB. All Over One Compression Test Tension Test 0024. EA \$20,000.00 \$20,000.00 \$1,500.00 \$1,500.00 1 0024AA. First Tension Test \$1,000.00 \$20,000.00 \$20,000.00 \$1,000.00 EA 0024AB. All Over One Tension Test \$142,000.00 \$150,000.00 \$142,000.00 Lump Snm LS \$150,000.00 0025. Electrical Work \$50,000.00 \$50,000.00 LS \$120,000.00 **Lump Sum** \$120,000.00 0026. Diving Services \$20,000.00 \$20,000.00 LS \$50,000.00 \$50,000.00 Lump Sum Railroad Insurance 0027. \$280,000.00 Lump Sum LS \$100,000.00 \$100,000.00 \$280,000.00 0028. Selective Demolition Asphaltic Concrete Pavement Restoration \$3,600.00 SY \$80.00 \$24.00 150 \$12,000.00 0029AA. First 150 SY \$24.00 \$14,400.00 600 SY \$80.00 \$48,000.00 0029AB. All Over 150 SY ESTIMATORS: STUDDARD, MARTINEZ, HATTEN \$8,255,045.00 \$8,795,287.00 INTERANTO, THOMPSON, ROSSINGOL, WILLIAMS, **TOTAL** PONS 6.544% MAXIMUM \$10,318,806.25 2ND LOW BIDDER

ABSTRACT OF BIDS - CONSTRUCTION		CEMVN-ED-C PAGE 1 of 4				BID NO: 1		BID NO: 2		BID NO: 3		BID NO: 4		
	LAKE PONTCHARTRAIN LOUISIANA AND VICINITY HURRICAN PROTECTION, HIGH LEVEL PLAN FRONTING PROTECTION AT PUMP STATION #6 17TH STREET OUTFALL CANAL, (METAIRIE RELIEF)		INVITATION NO; DACW29-98-B-0112 DATE OPENED: NOVEMBER 16, 1998 TOTAL MUMBER OF BIDDERS - S BACK				Miller Excavating Seravices 823 Salvadore Road Kenner, LA 70076		Bandaras Construction , Inc. 72 N. James Street Kansas City, Kansas 66118		Graystone Construction Company 10325 S. Perdue Baton Rouge, LA 70814		McClinton Contractors. Inc./ TriState Design Construction Co., Inc. A Joint Venture MCC-561 Smith Street, West Point, MS 39773	
OI	COMPETITIVE 8(a) ORLEANS AND JEFFERSON PARISHES, LOUISIANA		GOVERNMENT ESTIMATE										TSD-7401 Old York Road, Elkins Park, PA, 1902	
ITEM NO.	DESCRIPTION OF BID ITEM	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	UNIT PRICE	ESTIMATED AMOUNT	
0001.	Mobilization and Demobilization	Lump Sum	LS	\$340,000.00	\$340,000.00	\$200,000.00	\$200,000.00	\$373,000.00	\$373,000.00	\$200,000.00	\$200,000.00	\$29,000.00	\$29,000.00	
0002.	Clearing aud Grubbing	Lump Sum	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$34,000.00	\$34,000.00	\$30,000.00	\$30,000.00	\$4,700.00	\$4,700.00	
0003.	Cofferdam Excavation (East Monolith)	Lump Sum	LS	\$5,000.00	\$5,000.00	\$30,000.00	\$30,000.00	\$390,000.00	\$390,000.00	\$60,000.00	\$60,000.00	\$125,500.00	\$125,500.00	
0004.	Cofferdam Excavation (West Monolith)	Lump Sum	LS	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00	\$407,000.00	\$407,000.00	\$60,000.00	\$60,000.00	\$87,500.00	\$87,500.00	
0005.	Channel Excavation	Lump Sum	LS	\$4,000.00	\$4,000.00	\$20,000.00	\$20,000.00	\$48,000.00	\$48,000.00	\$50,000.00	\$50,000.00	\$93,800.00	\$93,800.00	
0006.	Embankment	Lump Snm	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$39,000.00	\$39,000.00	\$100,000.00	\$100,000.00	\$25,200.00	\$25,200.00	
0007.	Fertilizing and Seeding	Lump Sum	LS	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$42,000.00	\$42,000.00	\$5,000.00	\$5,000.00	\$6,100.00	\$6,100.00	
0008. 0008AA. 0008AB.	Armor Stone (Rip-Rap) First 1583 Tons All Over 1583 Tons	1,583 1,583	Tons Tons	\$50.00 \$50.00	\$79,150.00 \$79,150.00	\$60.00 \$60.00	\$94,980.00 \$94,980.00	\$80.00 \$75.00	\$126,640.00 \$118,725.00	\$24.00 \$24.00	\$37,992.00 \$37,992.00	\$140.00 \$58.00	\$221,620.00 \$91,814.00	
0009.	Piling, Steel Sheet, Type PZ-22	5,611	SF	\$20.00	\$112,220.00	\$16.00	\$89,776.00	\$30.00	\$168,330.00	\$25.00	\$140,275.00	\$47.00	\$263,717.00	
0010.	Piling, Steel Sheet, Type CZ-114	480	SF	\$20.00	\$9,600.00	\$19.50	\$9,360.00	\$30.00	\$14,400.00	\$25.00	\$12,000.00	\$74.00	\$35,520.00	
0011.	Piling, Steel Sheet, Type PSA-23	285	SF	\$25.00	\$7,125.00	\$45.00	\$12,825.00	\$30.00	\$8,550.00	\$25.00	\$7,125.00	\$24.00	\$6,840.00	
0012.	Construction Dewatering	Lump Sum	LS	\$180,000.00	\$180,000.00	\$250,000.00	\$250,000.00	\$282,000.00	\$282,000.00	\$300,000.00	\$300,000.00	\$779,400.00	\$779,400.00	
0013.	Cofferdam (East Monolith)	Lump Sum	LS	\$580,000.00	\$580,000.00	\$2,033,600.00	\$2,033,600.00	\$125,000.00	\$125,000.00	\$1,000,000.00	\$1,000,000.00	\$661,700.00	\$661,700.00	
0014.	Cofferdam (West Monolith)	Lump Sum	LS	\$350,000.00	\$350,000.00	\$1,666,000.00	\$1,666,000.00	\$140,000.00	\$140,000.00	\$750,000.00	\$750,000.00	\$301,000.00	\$301,000.00	
0015.	Furnish Steel H-Piles (HP 14 x 73)	13,800	LF	\$25.00	\$345,000.00	\$21.40	\$295,320.00	\$30.00	\$414,000.00	\$24.00	\$331,200.00	\$44.00	*** \$607,200.00	
0016.	Driving Steel H-Piles (HP 14 x 73)	13,800	LF	\$11.00	\$151,800.00	\$7.40	\$102,120.00	\$13.00	\$179,400.00	\$12.00	\$165,600.00	\$11.00	\$151,800.00	
0017.	Reinforced Concrete	Lump Sum	LS	\$900,000.00	\$900,000.00	\$1,788,000.00	\$1,788,000.00	\$1,854,000.00	\$1,854,000.00	\$1,815,066.00	\$1,815,066.00	\$1,188,800.00	\$1,188,800.00	

1 . 1